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Quant Mega Quiz for SSC CGL

QLIf(1/x)+ (1/y) + (1/z) =0and x +y + z = 11, then what is the value ofKa tyiez
TR (1/%) + (1/y) + (1/2) =0 x +y+z= 112, @ Y " Z . agpparaman 2 ?
(a) 1331

(b) 2662

(c) 3993

(d) 14641

- 3xyz?

Q2.
5 (L
What is the simplified value of [(:fl + = (:_Lr. }] *(x—1)7?

(1427 i (2% +1—x)
R |  (c = 1) e v 7T 32

x2-1
(@1
(b) x
(c)x-1
(d)1/(x-1)

Q3.

- S -
Ifx“,xﬂ CaLG \_'In e 62, what is the value of x (x < 0)7
x—vxi—1 xt+vxei=1

SR ) B -
gfe it LT T 6o 3T A x (x < 0) BT AW TR ?

x—vxi-1 rHlxrE-1

(a) -4
(b) 0
(c)3
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Q5.

Ifx* + % = 98 and x > 1, then what is the value of x - i'.F'
o A

At + =988 x> 1 G A x-~ FTATFZ?

(a) 2
(b) 2v2
(©) V5
(d) V3

Q6. In AABC, £BCA = 90° AC = 24 cm and BC = 10 cm. What is the radius (in cm) of the circum-circle of
AABC?

AABC #, £BCA = 90°, AC = 24 cm 3fX BC = 10 cm §. AABC ¥ qfahg FY FBsar v § (St #) ?

(a) 12.5

(b) 13

(c) 25

(d) 26

Q7. A chord of length 7 cm subtends an angle of 60° at the centre of a circle. What is the radius (in cm) of
the circle?

TS g1 & % I T 7 GHT THTS 6l SHAT 60° FT HI0T TATAT §. I 1 (2947 ha+l g2 (S &)

(a) 7V2

(b) 7V3

(c)7

(d) 14

Q8. If APQR is right angled at Q, PQ = 12 and £PRQ = 30°, then what is the value of QR?
Ife APQR # Q HHHIUT I1TAT 8, PQ = 123X £PRQ = 30° &, AT QR & {TH AT g ?

(a) 123

(b) 12V/2

(c) 12

(d) 24

Q9. In the given figure, area of isosceles triangle ABE is 72 °™” and BE = AB and AB = 2 AD, AE||DC, then
what is the area [in cm%)ofthe trapezium ABCD?
& 7ot s &, quizarg Ber ABE FT 8=« / 2 °™M° § &< BE = AB 3iI< AB = 2 AD, AE||DC § , /Y Trera
FICHST ABCD FT §5%hT FT §2 (39 441 H)

A D
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Q10. In the given figure, AC and DE are perpendicular to tangent CB. AB passes through centre O of the
circle whose radius is 20 cm. If AC= 36 cm, what is the length (in cm) of DE ?

<1 Y A #, AC Sk DE €98t X@T CB X 99 § . 99 & % 0 & {@T AB greh< Wl &, et B=ar 20
|t 2. Af AC= 36 T &1, AT DE FT g 4T 87 (37 &)

\.

(a) 4
(b) 6
(c) 2
(d)8

Q11. A shopkeeper sold an article at a profit of 17.5%. If he had bought it at 8% less and sold it at 30%
profit, he would have earned Rs 11.55 more as profit. Cost price of the article is

T THMQAR TF T Hl 17.5% F ATH 9 9T 8| IS a8 TH 8% F7 | @ldT i 30% AT 9L 99 <@T, q¥
Y 11.55 & STfar T AT FraT| a5 FT HF T A9 Y|

(a) Rs 550

(b) Rs 675

(c) Rs 750

(d) Rs 1475

Q12. Anu is working partner and Bimla is a sleeping partner in a business. Anu puts in Rs 5000 and Bimla
puts in Rs 6000. Anu receives 12.5% of the profit for managing the business and the rest is divided in
proportion to their capitals. What does each get out of a profit of Rs 880?

TF AR H g 9fHT 9T ¢ A fauar RftsT a@er g] 31 5000 €. 797 99T 6000 =. Ao St g
AT I AT & TG & oI ATH T 12.5% TTH ST g TAT AT IThT IS{T 36 FATT | (<7 ST g 880 €
AT § YA T e e gem?

(a) Rs 400 and Rs 480

(b) Rs 460 and Rs 420

(c) Rs 450 and Rs 430

(d) Rs 470 and Rs 410

Q13. A man invested Rs 8000 for an year in the share market. At the
end of the year, he gained 15% and he invested the amount with —
profit again for the second year. At the end of the second year, he [kkiiilEL
suffered a loss of 15%. Find the gain or loss per cent in the
investment after two years.

e e 1 T s enere et el SSC CPO 2019
ST { I/ 15% T ATH T TAT a8 THT TIA HT ATH & 1 [
T a¥ F forg e wgar ) gy aw F oiq #, I/ 15% $ I g5
I quT & 91, e § &y ar gria wfdsa srq 2

(a) Gain 3.25% / 3.25% ®TW 35+ TOTAL TESTS
(b) Loss 2.25%/ 2.25% &I

(c) No loss no gain/ = =T 7 T4 Validity : 12 Months
(d) Loss 5%/ 5% &1+
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Q14. Raju’s factory kept increasing its output by the same percentage every year. Find the percentage
increase every year if it is known that his output is doubled after two years.

TS T FFT H TAF qY SASCYE AT TTAT it T F FaT 5| AT I 17 ¢ T X T & 18 I S
AT Y 7T & A T T iy wRea s |

@) 100+/2 %

) 100(v2+1)%

© 100(+2 -1)2%

@ ® (vB-1)%

Q15. The present population of a village is 5500. If the number of males increases by 11% and the number
of females increases by 20%, then the population will becomes 6330. What is the present population of
females in the village?

T T T FAqT STEeT 5500 g I qout F €T 11% 98 ATt § i Afgansi it 631 20% J&dft §, X
SEEAT 6330 BT AT 3| Tia & ATRATSH it TAHATT TAGESAT ATT 3.2

(a) 3000

(b) 3500

(c) 2500

(d) 2000

Q16. One type of liquid contains 25% of milk, the other contains 30% of milk, A container is filled with 6
parts of the first liquid and 4 parts of the second liquid. The percentage of milk in the mixture is

T THTL & T H 25% T &, T H 30% TH &, THh hed H Tgol Th1< 6 GLA &l 6 HET § qAT L A HT 4
AT 9 5| T § faae afdera o 82

(@) 27%

(b) 31%

(c) 29%

(d) 33%

R
Q17. The expression JZ T2 +~2+ 200580 jg equal to what?

Hfe=aEa u"li’—«\"r2+~.,|2v2r:0589 T STET %o

(a) 2sin6
(b) 2 cos B
© sin 2 0
(d) €08 20
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Q18.

If o > B then the angle between the lines
XCOSe. + ySine = p and xcospg + ysing = p’ is-
IfE o> BF AT xcosa + ysina = p JUT
xcosp + ysinp = p’' TWTHT & AET FT FI0T FAT &2

(a) & +]3
) *P
a+p

Bilingual

Q19.
If tanx .

sin{x+v) a+
— s —

b
on ) a_b,then the value of

sin(x+vy) a<b
afe- sinEx—}rj - a—b
(@3
(b)2
(c)ab

a—-b

(d)—

a+b

tan y

tanx .
i3

,then the value of
tany

Q20.

If asece +btane+c=0,andpsece+qtane+r=0,
then (br-qc)*- (pc-ar)2 =7

g asecH +btanO+c=0,3T psecO+qtanB+r=0,

ar (br-qc)?-(pc-ar)?=?

(@) (ag-bp)?

) (ap-ba?

(c) (@p*bp)

(d) (ag-bp)*
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Q21.

Ifa=sin G), b = cos G), and c = —cosec G), then the value a®* + b® + ¢3is—

oy Y Y
g a= sin&j, b = cos ‘&j,}ﬁT c= —cosec‘jj,a’f ar a3+ b3 + ¢3 FT AT F4AT &7
3v2
(@)=~
(b)1

()0
\/—
@-=

Q22. A monument has 50 cylindrical pillars each of diameter 50 cm and height 4 m. What will be the labour
charges for getting these pillars cleaned at the rate of 50 paise per sq m? (Use T = 3.14)

T TART & 50 FAATHIT ¥ 7, T H7 419 50 T ik F91% 4 Hex 7] 50 37 afq ot frex frwa =7
QT [ TS LA A a1 @9 AEm? (= 3.14)

(a) Rs 237

(b) Rs 157

(c) Rs 257

(d) Rs 353

Q23. A conical cavity is drilled in a circular cylinder of 15 cm height and 16 cm base diameter. The
height and the base diameter. The height and the base diameter of the cone are same as those of
the cylinder. Determine the total surface area of the remaining solid.

TH 1599 FATS qAT 168HT AT ATH AT JATHI ST |, Toh APTHI TEAT TAIT AT g| 7% hr AT
3 SATETT T AT AT & GHIT 5| AT S FT T TS &A6BA 71T HY|

(a) 44071 cm?

(b)215ﬁcm3

(¢ S42mcm?

(d) 3767w cm?

Q24. In a cyclic quadrilateral ABCD, £A is double of its opposite angle
and the difference between the other two angles is one-third of £A.
The minimum difference between any two angles of this quadrilateral
is A
T T ITHST ABCD #, £A, 389 FAqda Fo1 &7 IRMET § T9T 57T
SRR R LT R e reE T esa sl  PREMIUM PLUS
A sa T 87
(a) 30°
(b) 10°
(c) 20°
(d) 40°

12 Months Subscription)

SSC CGL

6 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2976/SSC-Premium-Plus-Subscription-12-Months

Q25. In a triangle ABC, the lengths of the sides AB, AC and BC are 3, 5 and 6 cm respectively. If a point D on
BC is drawn such that the line AD bisects the £A internally, then what is the length of BD?

BT ABC #,3[STT AB, AC SiiX BC %H<T: 3, 5 3iiX 6 9T §| afe BC WX g D 39 WX S9HT ST § 1% @ AD,
LAFY 3T gitgaTirg AT €, A BD it TS 71T FL?

(a) 2cm

(b) 2.25 cm

(c) 2.5cm

(d)3cm

Q26.

G
ey

=]

If — —;: _=a—1—iv’5‘b,thenthevaluenfaandbare—

=]

o

i

e ;:ﬁ—;:ﬁﬁ—%ﬁbﬁr, ar a3itb & AT AT FL|

(@Ja=1,b=0
(b)a=0,b=1
(da=1,b=2
(da=-1,b=2

Q27. If the graphs of the equations 3y-x = 6 and 3x + 5y =38 intersect at a point, then the co-ordinates of
the point will be -

I q¥fi=Tor 3y-x = 6 TAT 3x + 5y =38 & ATH T (9§ I Afa=aig wLaT §, ar f&g 1 Aaai® 1 w3
(@ (33)

(b) (2,-3)

(@) (4,5)

(d) (6,4)

Q28.

s : ) (a2 -b%+c?)
If ‘b’ is the geometric mean of a and c, then what will be the value ofm =7
a - C
(a®—b®+c?)

D', a TAT ¢ FT FATHSIT A L, AT a~2-b™2+c™2 F7 AT AT HL?
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Q29.

| L1, 1 N
1+p+q'1 1+q+r"1 1+r+p“1f,-'wmbe_

If pgr=1, then the value of

b

-

1 1 1
Ifg pgr=1 gar L1+p+q-1+1+q+r-1+1+r+p-1] T AT F2T Fom?

(@1

(b) pq
(c) aqr
(d) 1/pq

Q30.
Ifa*=(x+y+2z)y,a"=(x+y+z)?and az = (x + y + z)%, then what will be
the value of (x + y + z)(a = 0, given)?

Ifg ax=(x+y+z), = (x+y+z)r 3R az=(x+y+z)* &, df (x+y+z) F A
FIT gEm?

(a=0far B

(@)o

(b) a3

(01

(d) a
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